2011-2012, DODGE 1500-3500

— | ) — Backup Sensor Guard Mounting Diagram
SRECESION ¥ JD1ag
DESIGN & MANUFACTURING PART #700155

Important:
Manufacturer is not responsible for negligent use of vehicle with Backup Sensor installed, including over-
tightening of screws and bolts causing damage to vehicle or Backup Sensor.

INSTALLATION INSTRUCTIONS
Before you install your PRECISION Backup Sensor Guard, see the Diagram for all necessary parts and bolts.

Washer, Flat, 0.406"ID (2x)
A\
h Washer, Lock, 3/8" (2x)

Rubber left side (1x)y “"-‘4 Nut, Hex, SS, M10x1.5 (2x)

\
\
\

this side facing
V@@ the bumper

e

~Rubber right side (1x)

Diagram 1

Position Guard between Bumper and Frame. Place the assembled Guard at the two OEM Factory Bolts (do not remove the
existing OEM nuts, place guard in front of the OEM nuts), which are holding the frame for the Bumper. See pic 1. Install guard
with washer/lock washer/hex nut and tighten them up.

PARTS LIST #701494

(2) Rubber left side XXXXXX
(2) Rubber right side XXXXXX
(12) Screw, #8-32 #016031
(12) Nut with Washer, #8-32 #026001
(4) Nut, Hex, M10 #025019
(4) Washer, Flat, #018013
OEM Bolts (4) Washer, Lock M10 #024006
Stainless Steel Parts
(2) Mount Front Side #701488
(2) Mount Back Side #701489

picture 1

NOTE: Inspect all bolts, ensure that they are tight!
Inspect occasionally to ensure that they remain tight.



